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General Instructions :

(i) Please read the instructions carefully.

(it)  This question paper consists of 24 questions in two Sections : Section A

and Section B.

(iti) Section A has Objective type questions whereas Section B contains

Subjective type questions.

(iv) Out of the given (6 + 18) = 24 questions, a candidate has to answer

(6 + 11) = 17 questions in the allotted (maximum) time of 3 hours.

(v)  All questions of a particular section must be attempted in the correct

order.

(vi) Section A : Objective Type Questions (30 marks) :

(a)
(b)
(c)
(d)

This section has 6 questions.
There is no negative marking.
Do as per the instructions given.

Marks allotted are mentioned against each question / part.

(vii) Section B : Subjective Type Questions (30 marks) :

(a)
(®)
(c)
(d)

This section has 18 questions.
A candidate has to do 11 questions.
Do as per the instructions given.

Marks allotted are mentioned against each question /part.

Section A
(Objective Type Questions) (30 Marks)

1. Answer any 4 questions out of the given 6 questions on employability

skills.

(1)

335

4x1=4

What is meant by self-awareness ?
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(ii1)  Which of the following is characterised by an extreme feeling of
self-importance ?

(a) Narcissistic personality disorder
(b)  Borderline personality disorder
(c) Dependent personality disorder

(d) Antisocial personality disorder

(iii) What is the default alignment of numbers in a cell ?
(a) Left aligned
(b) Right aligned
(c) Center aligned
(d) Randomly aligned

(iv)  You have a summer vacation project on making a report, ‘Services
Offered by Public Sector Banks’. You have done a lot of research,
clicked pictures at various bank branches. Now, you have to make a
presentation before the class. What would you use ?

(a) A chart paper

(b)  Word document

(c) Presentation software
(d) Spreadsheet

(v)  Prashant works for Surbhi, who is a businesswoman. Prashant is
a/an

(a) Entrepreneur

(b) Wage employed person
(c) Skilled worker

(d) Businessman

(vi) Sayed knows what business he wants to do but does not know what
steps he has to take to get it running. The barrier stopping him is

(a) building the right team
(b) lack of plan
(¢) risk taking
(d) lack of funds
335 Page 5 of 19 P.T.0.
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2. Answer any 5 out of the given 7 questions. 5x1=5
(i) Radha is a college student. She wants to start her own banking
business. From where will she obtain a bank business license ?
(a) RBI
(b) SBI
(c) FICCI
(d) IRDA

(ii)) AML stands for
(a) Anti-Money Laundering

(b) Anti-Monetary Laundering
(c) Anti-Mobility Laundering
(d) All Money Laundering

(iii) Assertion : Bank Manager represents the Bank as far as the
customers are concerned.

Reason : He is entirely responsible for smooth conduct of the
branch affairs.

(a) Assertion is correct, but Reason is wrong.

(b) Both Assertion and Reason are correct.

(c) Both Assertion and Reason are wrong.

(d) Assertion is wrong, but Reason is correct.

(iv) In case of short-term loans, interest rate is than interest
rate for long-term loans.

(a) Lower

(b) Higher

(c) Same

(d) Both (a) and (c)

(v)  From the following Minimum Reserve System principle refers to

(a) Currency notes issue
(b) Reserve levels to be maintained by the banks
(c) Minimum reserve ratio

(d) RBI reserve level to be maintained

335 Page 7 of 19 P.T.0.
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(vi) In case of balanced Balance Sheet, the total liabilities should be
the assets.
(a) Equalto
(b) More than
(c) Lessthan
(d) Both (b) and (c)
(vii) KYC stands for
3. Answer any 6 out of the given 7 questions. 6x1=6

i) Mr. A wants to send ¥ 5 lakh to his wife at a distant place. Which is
the fastest mode of payment that he should choose ?
(a) Demand Draft

(b) Cheque
(¢c) RTGS
(d) NEFT
(11) CBS is based on architecture.

(a) Service-oriented
(b) Market-oriented
(¢) Customer-oriented

(d) Campaign-oriented

(iii) office manages the IT resources for the bank.

(a) Front

(b) Middle

(c) Back

(d) Side
(iv)  Front-end interest calculated is than back-end interest.
(v) is prepared as at/on a particular date.

(a) Balance Sheet
(b)  Profit and Loss Account
(c) Trading Account
(d) Profit and Loss Appropriation Account
335 Page 9 of 19 P.T.0.
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(vi) Name any one output device of a computer.

(vii) Buying and selling of eligible securities by the central bank in the
Money Market is known as

4. Answer any 5 out of the given 6 questions. 5x1=5
(1) There is no minimum transaction limit in
(a) RTGS
(b) NEFT

(c) Digital Pay

(d) Both (a) and (b)
(11) ECS stands for

(a) Electronic Clearing Service

(b) Electric Clear Scheme

(c)  Electricity Clearance Scheme

(d) Electronically Clear Scheme
(iii) Who is responsible to hold periodical meetings of all staff members
to discuss the bank’s performance with higher authorities ?
(a) Manager
(b)  Cashier
(c) Deputy Manager
(d) Auditor

(iv) cost refers to any other use to which the money could be
put, for example lending to others or investing elsewhere.

(v)  The standard rate at which RBI is prepared to buy or rediscount
Bills of Exchange or other eligible commercial papers from other
banks is called :

(a) Bank Rate
(b) Prime Lending Rate
(¢) Repo Rate
(d) Base Rate

(vi) In case of profit for the bank, Liability side will be than the
Asset side.

335 Page 11 of 19 P.T.0.
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5. Answer any 5 out of the given 6 questions. 5x1=5

i) Assertion : A bank locker can be leased to any adult, firm or

association.

Reason : Storing too much jewellery and valuables in the house
at times becomes a security issue.

(a) Assertion is correct, but Reason is wrong.

(b) Both Assertion and Reason are correct.

(c) Both Assertion and Reason are wrong.

(d) Assertion is wrong, but Reason is correct.

(i)  Phishing is

(a) an electronic instrument for fishing

(b) related to cyber crime
(c) one of the latest forms of wishing somebody
(d) catching fishes

(iii) should be fire resistant as per the standards laid down
by the RBI.

(a) Vault

(b)  Cashier’s Office
(c) Manager’s Office
(d) Auditor’s Office

(iv)  State the formula for EMI calculation.

(v) The rate at which RBI lends short-term funds to the bank is known

as .

(a) Bank Rate
(b) CRR

(c) Repo Rate
(d SLR

(vi)  State any two items of income of a bank other than interest.

335 Page 13 of 19 P.T.0.



EE
=

6. feuTw 6yl # 4 fohgl 5 U341 o IR AT | 5x1=5

6) Teh Sk o1 Ush U @ S TR edt & Top foshar & @iier =1
YA 99 T AR Tl TR o T ared g |
(a) ®IS
(b) wHE-YA
(c) WM foa
@ Tafmaa
(i) <21 TeAA qer fshataT gry foham Simar 2 |

(a) IR w1 qar @HET, IR g HE
(b) I G HET, I T TAT TR
(c) I T, (e G B

(d) IR T IaT T, JiE T

(iii) 39 SAh T ATH FATSY S Seh sl LA TG T I9HT B |
(a) Tehfea
(b) TEUH
(c) Y& REPCH
d) WEHEgh

(iv) STHTHAIST ol ITeh AT =TT i LA HH AR 5 @d T 9971 W &
foTT AT fohT 7T 39T A1 WicdTegd &1 919 SdTsy |
(a) ™=
(b) g1
(c) HHISH
d 2
(v) g8l il 3R aeehil T ¥ gafya fifa =1 @ aead 8 2
(a) ko1 i
(b) Hifgep A
(¢) TSRS ifd
(d) TR i A

(vi) A | Sl o AfdH @Td forE ariig =1 dIR fopu I1d & 2
(a) 31°M
(b) 31 femrsr
(¢c) 30 faarer
(d) 157l

335 Page 14 of 19




EE

=

6. Answer any 5 out of the given 6 questions. 5x1=5
i) A/An is a letter from a bank guaranteeing that a buyer’s
payment to a seller will be received on time and for the correct

amount.

(a) Invoice

(b) Letter of Credit
(c) Bill of Lading
(d) Bill of Exchange

(ii1)  Data validation is made by the and procedures.
(a) Error detection, Error correction
(b) Error correction, Error detection
(c) Error commission, Error correction
(d) Error detection, Error formulation

(iii) Name the person who is incharge of a local branch of a bank.
(a) Cashier
(b) Manager
(c) Chief Manager
(d) General Manager

(iv) Name the reward or incentive paid to depositors for postponing their
other expenditures and keeping money in their bank account.

(a) Interest

(b) Discount

(c) Commission
(d) Rebate

(v)  What is the policy related to direct taxes and government spending
referred to as ?

(a) Credit policy
(b) Monetary policy
(c)  Fiscal policy
(d) Government policy
(vi) On which date are the final accounts of the banks in India
prepared ?
(a) 315t March
(b) 315t December
(¢) 30th September
(d) 18t January
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Section B

(Subjective Type Questions) (30 Marks)

Answer any 3 questions out of the given 5 questions on Employability skills.

Answer each question in 20 — 30 words. 3x2=6
7. Explain by giving example the meaning of extrinsic motivation.

8. List any two importances of positive thinking. Describe how it can help
someone to achieve one’s goals.

9. Enumerate any two uses of spreadsheet for a bank employee.

10. What do you understand by interpersonal skills and how are they
important for a bank employee ?

11. Karan started a small factory in the backward district of Assam to
manufacture handicraft items. Karan aims to use the local talent and
resources in order to provide good quality products. In this context, explain
two qualities which Karan possesses as a budding entrepreneur.

Answer any 3 out of the given 5 questions in 20 — 30 words each. 3x2=6
12. Briefly explain the need of having nomination facility for locker hirers.

13. Briefly explain any feature of computer.

14. What is the reason of providing shutter gates at bank branches ?

15. What is meant by ‘rate of return’ ?

16. Briefly explain the Monetary Policy.

Answer any 2 out of the given 3 questions in 30 — 50 words each. 2x3=6

17. “It is not only the customers who get benefits from e-banking, but banks
can also derive various benefits from e-banking.” In light of the above
statement, state any three benefits of e-banking for the banks.
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20. “T1Y ISH T IEN hI JEF 3T 7 AN ! YR 7 Sk ™ % oI
Y 8 1” 39 de °, 9 o USEd il 9 & [0 IGeh! fohral af A 3T
=1 =TT hifve |

21. % G wewqUl B ATl g itk UTgh AR TG 3T @ & IR e A1 [
8 |7 39 GeH |, de i fohral o gRa fammanati it smen hifvw |

22, 3fhd R YHa g1 &d & | A1 9 Tk S H T 2,40,000 1 Faw R B
fd 1 12% 9fd a¥ Frame S $ @ W A fAdar § Jafh gud S 10%
Tid a¥ s G | a1k FAST Fshd g &3S Herdn 2 |
(a) 39T g I8 fehart TN forenft 2
(b) Toraa sgar fers fopam 2 wror waTsU |

23. TR TN o INY dek kT ATH ISV 3T 38k fohral did ST shl SATEAT ShIFIT |

24, d% @ W-fwafea ufguRen (Wde) @ 9 F9 gHed § ? S uHl
gyt o 999 § Y9 &1 hidl § ?
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18. You are recruited as a senior banker in ABC Bank. State any three
functions of middle office that you will be performing.

19. Briefly explain the advantage of charging interest as per Fixed Rate.
Answer any 3 out of the given 5 questions in 50 — 80 words each. 3x4=12

20. “Earning of profits is the prime objective of every business and so it is for
banking business.” In this context, explain any two non-interest incomes of
the bank to increase its revenue.

21. “Bank security becomes important as customers are continuously coming

in and going out.” In this context, explain any four security features of a
bank.

22. Amit and Sumit are two friends. Both invested ¥ 2,40,000 each in a bank.

Amit got simple interest @ 12% p.a. whereas Sumit got interest
@ 10% p.a. compounded annually.

(a) What is the amount they each will get after 3 years ?

(b) Who made the better investment ? Give reasons.
23. Name the apex bank of our country and explain any three functions of it.

24. What do you understand by non-performing assets of a bank ? Why does
the bank make a provision with respect to such assets ?
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